Dados
1,0 x 107%m = 1nm e 1m? =1,0 x 10 %cm® = 1000L
latm = 101,3kPa e pugua = 1000kg/m?
k= 1,38 x 1072 /mol - K e Umassa = 1,66 x 107 %7kg
R=28314J/mol - K o v"*=c¢=3,0x10%n/s ¢ v % =343m/s
vrms = /3 T/m @ gy = neT e BRI = B, + Bl + -+ By
PV =Nk I'=nRT e ¢y — v =R a7 =¢/c0

Pava'y _ Pb‘/g? o TaVG’Y-_l _ Tb‘/b’y-_l
AEte?"m _ Q + I'VSObTe — Q . /pdv

N = VVMM/QQ o K = QF/Lventrada ® TlCarnot = 1 - TF/TQ () KOarnot — TF/(TQ - TF)
D(x,t) = Asenlkx — wt + ¢o| o [ = P/area
3 = (10dB)log(I/Iy) e T =1,0 x 10~121W/m?
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